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HE: CHEN B Y GXABYSH(LUDDHI /L)
el HOINXAS U TOIGEDE (9l &2)
SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
307 glz2told 30,000 37,000 27,000
02 2Itda=2x 30,000 30,000 0
O0lS&EHe 29 E43Me X 30,000
Agad@ated o 2tk 25 30,030 30,030 0
201 ZEH2EH] 30,030 30,030 0
01 AR 2&cldl 30,030 30,030 0
OE2AUXNRS(78) 30,030
ZHSFIARYAS2E =& (21) 183,353 307,720 N124,367
=2 183,353
201 Y2yl 40,453 49,200 ~8,747
=2 40,453
01 AtR2teld 40,453 49,200 A, 747
OgH 8ot ZdHs3AUol oS 40,453
= 40,453
202 Oddl 10,000 10,200 A200
=2 10,000
01 =LA 5,000 5,400 400
OgH &t dHsAUol datrE 5,000
= 5,000
04 =Mzt 5,000 4,800 200
OIloH T At2ted o2l E.r &0t 5,000
= 5,000
308 XNXIHHSOIE 132,900 248,320 A115,420
= 132,900
01 XXSHHBILAEXS 132,900 248,320 A 115,420
OLM &5t ZMsAMol Mo 132,900
= 132,900
AARHTSHAIL(Z1) 83,600 109,314 A25,714
= 83,600
308 AHXIHMSOIH 83,600 109,314 A25,714
= 83,600
01 AUXSHBAEXZ 83,600 109,314 225,714
OMAREH SS+HAE 83,600
= 83,600
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SN EE - ER(EN) - NRAY - BaS 01 &t o8 e HlRE2
QM2 HSRTIHA X2 (=2) 78,286 11,326 66,960
= 78,286
101 el H] 18,966 11,326 7,640
= 18,966
10 JIZtNZ2Z2NSEs 18,966 11,326 7,640
OLHN ZHM=& IloiX XI& 18,966
= 18,966
308 AtXIHXMSOIH 59,320 0 59,320
= 59,320
01 XNXHHMILEXS 59,320 0 59,320
OLHN ZH=& oloiX XI& 59,320
= 59,320
AN 2858 =8 24,000 20,858 3,142
HEANMIMHSE L FAAS L35t 24,000 20,858 3,142
201 LEH23H] 17,000 16,565 435
01 AtR2teld 17,000 16,565 435
OHRMINE HEERE AIS 3,000
OTAMINE DtRIE && MFN=E 1,000
OFAMMERARS 2S(RIE=+E) 8,000
OTRNMIMNEFL R=AtcllE 2t 5,000
202 O4dl 3,000 4,293 A~ 1,293
01 =LAl 3,000 4,293 A 1,293
ORMINE /385, s & FFA 3,000
303 Eaz= 4,000 0 4,000
01 Z&3 4,000 0 4,000
ORMINE =N 22N AY 4,000
O2*2M (22 11, 2= 2)H) 4,000
SN NFEHASL5 656,000 525,565 130,435
s 40,000
& 616,000
ZEEE 2N = € dHEE 397,000 274,565 122,435
201 Lt 2,000 1,565 435
01 AtR2teld 2,000 1,565 435
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SA B (E) - HRAY - B Off &b o8 e HDE2
= 40,000
QI2tex SEEN X 2,183,600 2,058,392 125,208
= 300,000
& 1,883,600
M EHH SdEs K| 927,000 829,700 97,300
201 2B29H| 12,000 13,300 A 1,300
01 At 2t2ldl 12,000 13,300 21,300
O&ALRIZ 1M 2,000
OAIZEHHEEXZZS XN& Z20& 3,000
OEx= doARARAS 3o&A =H 7,000
202 (44l 2,000 1,400 600
01 =Wobl 2,000 1,400 600
OAMISHHNELTZ XNJASHH SEXNES 2,000
203 SR F&H| 13,000 15,000 A2,000
03 AIHEFAHRFEY| 13,000 15,000 A2,000
ORIZ2H - AL EH M AIBMHS =& 13,000
307 QIZt0lA 900,000 800,000 100,000
03 AlSIEHXNEZXZ 900,000 800,000 100,000
OAZ SHHE XS 900,000
MOIZXEX 4 185,000 210,000 225,000
308 XXIESHMSOIHE 185,000 210,000 A25,000
01 AXSHMIMNEERS 185,000 210,000 225,000
OMOIZ2XEX X &Es 2 185,000
HEN SEH2s F& 116,500 0 116,500
201 LB29| 95,000 0 95,000
01 At®R2teldl 57,000 0 57,000
OHIN YRS =7 15,000
OHEMN =8 222 5,000
OHEAN =& =AM =2H| 10,000
OXEXIetg s 45 =& 42,000
03 SHAI2ZHI 38,000 0 38,000
OXEXICtE G /A2AS 38,000
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XX 8% 3t
CHEO MM U NAABUS (LWDDH
DI2IEH SHEO XS

SN (B) - MBEAY - B2 0f Ao Soe HRZ2
202 O4H| 21,500 0 21,500
01 =2UWdHI 1,500 0 1,500

OBgZ&EAN &8 =& 1,500
04 =XIstH bl 20,000 0 20,000
OBYZEAN = Hd&=2 A 20,000

LRAT0Ig2A2A 411,500 264,892 146,608
201 B2 247,000 160,492 86,508
01 ArS2t2|b| 14,000 66,500 A52,500

OFEAN2YE 425 & 24 29 14,000
02 22294 233,000 93,992 139,008
O&ALAIE Z AtH] 3,000
OFM2YE 29H| 17,000
OFAIEISA & Y8 EA S 15,000
OFM2YE 3523 156,000
OAIE&HI KXY 42,000
202 O] 1,500 0 1,500
01 ZUWdHI 1,500 0 1,500
OL&0olgl 2 SHX&0l 1,500
307 QIZ2+tol A 113,000 104,400 8,600
05 QIZIFE= 113,000 104,400 8,600
O&FAIZLZ| RES2HY 113,000
401 AIZHIZLE204H] 50,000 0 50,000
01 Al&H| 50,000 0 50,000
OB Hd 2RAte 0/ X A2 =2l 50,000

HIGel2I2teHH s9&8s A3 101,500 110,200 A8,700
201 LBrEAH| 37,000 39,600 A2,600
01 AtR2t2ld] 37,000 39,600 N 2,600

OAt3l - CIZ2FER XI& AL 37,000
Ol 2t X3 AHS 6,400
-G U2tEX XNJAY Z2hs 3,000
-HOLAZE oMY 3,400
ONSHTOIA =& &3 14,000
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SA

By CHE S U NXASLSH AT DI /L)
SH9: DI SEEO K Rk
_ _ HE T
SM-EH . C(BH) - HRAY - B2 Ofl AF o4 Sl ko HRE2
oSl 0/=55 M=tal &0t 7,000
OXNSLL3 =3=H&HZ 50,000
OI=&0 H&UE JIEEE(21) 300,000 500,000 A200,000
= 300,000
308 AtXIHXMSOIH 300,000 500,000 200,000
= 300,000
01 TXHHBLEXS 300,000 500,000 A 200,000
O0I=TY FEADF J|=LE 300,000
= 300,000
FUEHELs & NG9S &8 107,000 75,881 31,119
FUXNXHEH &dst =8 65,000 74,381 A9,381
201 LEH23H] 6,000 9,000 23,000
01 A2l 1,000 1,000 0
OFQURIIME 24S0t2] ZAUH3 1,000
03 EA2ZH| 5,000 8,000 3,000
OFLURIIME 24S0t2] ZAUH3 5,000
202 O4Hl 1,000 2,381 21,381
01 =LHAHI 1,000 2,381 A 1,381
OFOURIME HRE Ol 1,000
301 LerEa= 3,000 7,000 24,000
10 BAIAHIENS 3,000 7,000 24,000
OFRUNIME 24S0t2] 3] 3,000
303 Eaz 15,000 16,000 A1,000
01 Z4&= 15,000 16,000 21,000
OFURIME LLS0t2] B AL 15,000
308 AtXIHXMSOI& 40,000 40,000 0
01 XXSHHILAEES 40,000 40,000 0
OFURXME S4A -2 T2 29
Bl X2 40,000
HEQIZOl NAAE B N B85 41,000 0 41,000
201 ZEH2IH] 40,000 0 40,000
03 HA2EHI 40,000 0 40,000
OH23 MZAHCIS & I8 A 40,000




SA

BE: CHENO B Y NHHTUSH(LUDDHE/Y )
ol EOIHOENE U XAAESE A (S5l &2)
SA-EH O (BH) - HBAY - B2 Ofl A o4 gggf; HRS2
OPCHLE A, AR g, SHHBAHAS 20,000
OBALEXI(205) & Al 10,000
OMANEH 2 2H 10,000
202 O4Hl 1,000 0 1,000
01 =2WAbl 1,000 0 1,000
ONF2A=02 FHNA gR2FT 1,000
FOIMEIMHI A 4G =X 1,000 1,500 500
202 O44| 1,000 1,500 A500
01 =2WAbI 1,000 1,500 A 500
OF0IMEHHIA HEFA 1,000
EA 243 1,036,689 1,364,372 N 327,683
= 342,029
= 694,660
T NRSAMEH B2HE =T 425,600 516,800 ~91,200
202 O4Hl 3,000 7,800 A4,800
01 =2WdbI 3,000 7,800 A4 ,800
Ok NASAHE =7 3,000
307 QIZtoIA 413,000 501,000 88,000
02 0QI2tHAEH X 413,000 501,000 88,000
O& NIASAHHEH 29 L A=A 280,000
OXI2EA Ol XM 29 23,000
OL AT XA S ALACH 3 22,000
OXNKEA 24T20H 245 XK 30,000
OJIESAE 29 20,000
OXI2SAH 22X & 2lHn=s 10,000
OML - THolCHHl MRS AES =& 20,000
O0t0lHE Oelol RHASAE 29 8,000
403 XXM SA201H 9,600 8,000 1,600
02 ZJ/2SOCHSCHEEAFSHI 9,600 8,000 1,600
OXLSAISE 2CAAE S22 9,600
NZ RESANESE X2 155,800 413,200 257,400
202 O4H| 1,000 1,200 A 200
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X XH .
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chel:

XX Bt
THEO O
TES A A

SN C(BH) - NRAY - HES O] &k o8 Soe HlmE2

01 3L 1,000 1,200 A200
OAl - 2 N SAHEH 29 &4 1,000

308 XXIEHMSO0IE 154,800 412,000 A257,200

01 XXEHHBLEXZ 154,800 412,000 A257,200
QAl - & XAIASAHHEH 29 150,000
Ot SAttHE 2 4,800

A SAF 2CIUIOIEH ALY K& (=1) 386,978 349,773 37,205
= 289,482
& 97,496

307 2IZ2t0lA 30,472 0 30,472
= 15,236
= 15,236

02 Q&S X 30,472 0 30,472
O SAF 2ZCIUIOIH X3 A 30,472
= 15,236
& 15,236

308 AtXISHHMSOIH 356,506 349,773 6,733
= 274,246
& 82,260

01 XXHHILEXZ 356,506 349,773 6,733
OXASAL ZCIUHIOIH XI& A 356,506
= 274,246
& 82,260

NASAR E8E XJA(=21) 68,311 37,203 31,108
= 52,547
= 15,764

308 AtXIEHH SO0I& 68,311 37,203 31,108
= 52,547
& 15,764

01 XXHHMBLEXZ 68,311 37,203 31,108
ONA=AZER XY 68,311
= 52,547
< 15,764

398,324 371,270 27,054
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4,000
4,000
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10,000
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9,000
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10,000
10,000
10,000
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A X

M 2DNUHSSE LSS EMNUH/THLT - 212 9])
R EEEEE ] LR
DA - EH O (5) - HRAIY - HH2 0l & 2 Soe HDS2
01 AtER2teldl 1,000 13,500 A 12,500
ouldl=ZoyY JIE A 500
OXFOIED UHE WS 500
03 SHAI2EHI 3,600 0 3,600
oublzZoY JIEHAHROS, AXE) 2,700
OXNEULAUY W (EES, 849 LA
=g) 900
202 (44l 4,440 8,000 A 3,560
01 =UWodl 4,440 8,000 A 3,560
O, HlaUH gRF=A 4,440
301 getEazg 3,606 3,231 375
09 SBUZRRIAIBAZ 3,306 3,231 75
O0O3Y2RABAZ (1Y) 3,306
(OF=10! 1,170
OS4At| 1,275
Onst| 561
Ol =l 300
10 SHAIAHIEBAZ 300 0 300
ool Zad JIE At 300
olgrel Az 235 XA 136,500 94,000 42,500
308 XXIESHMSOIE 12,000 50,000 A 38,000
01 AXSHMIMEERS 12,000 50,000 238,000
ot nEsd LAY 12,000
403 ANXIEXHSKA20IH 124,500 44,000 80,500
01 XXSHMA2EE 124,500 44,000 80,500
OEENH=Z SN 124,500
olgte] HlaZsAlE EsAY X3 (=12) 15,300 33, 150 A 17,850
= 9,000
& 6,300
403 KXISHHMSAE01H 15,300 33,150 217,850
= 9,000
& 6,300




A X

B PDINSSS USHSTIMUHE /UL - 2%s)
CH9l: X BIE S N D CLEE
_ _ HE T
SN EB -GS - MBAY - BES 0 & 24 e HRE2
01 XXSHHA2EX 15,300 33,150 A17,850
Otlats=Ald =&IHH 15,300
= 9,000
< 6,300
olgRuEsa(31) 139,090 28,360 110,730
= 112,700
< 26,390
308 XNXIHHMSOIE 139,090 28,360 110,730
= 112,700
& 26,390
01 AUXHHBLEEZ 139,090 28,360 110,730
(©OF=3=PJPAYN Eriel 38,624
= 22,720
< 15,904
OscliE = 9,078
= 5,340
[ 3,738
O=zdu=s it 04l 5,848
= 3,440
= 2,408
CHEEERTE T 10,540
= 6,200
= 4,340
ONd=Ctte| SE=HZH| 75,000
= 75,000
HI&OHHl CHHd =SS HH 34,000 30,600 3,400
= 14,000
< 20,000
SAgs & SYLAY2S 23 20,000 18,000 2,000
201 LEH23H] 19,700 18,000 1,700
01 Atf2teld 17,000 18,000 21,000
OsXAs 2Al 15,000
osgEegasl 2,000
03 HAr2ZHI 2,700 0 2,700
ossYsIEls 29 2,700




SN KX D
By QIS5 YSHIDYNUE /TSI - 21S)
= o
o

CHel: HIAHHHl HH S Y (el &2
SAN-ZH-SA(FA) - NFAY - BES Ol &+ 9K %Eﬁiﬁ HwsZ

301 LerE AR 300 0 300

10 BAIAHIZAZ 300 0 300
ossusIsls 2% 300

IASAEH AA(2D) 14,000 12,600 1,400
= 14,000

301 LerE AR 14,000 0 14,000
= 14,000

12 JIEEA3 14,000 0 14,000
ooEEY 2 PAZ 14,000
= 14,000

NALH HASHBELX AN /X ALTAI) 2,112,200 2,617,400 505,200
= 2,100,000
< 12,200

SMYEs XHEE 2,112,200 2,617,400 505,200
= 2,100,000
< 12,200

OHEZSH 2435 =8 12,200 117,400 105,200

201 Ler2y| 8,500 11,300 A2,800

01 ARl 8,500 11,300 2,800
OFAIIES 0EIHPI| HEY 5,000
OFAINES OISIIPI| SEAAT 22 3,500

202 Ol 3,700 6,100 A 2,400

01 =LHoiU 3,700 6,100 A2,400
OAIIBSNYBS)| YREX 3,700

AJESNLLE)| NH(=D) 2,100,000 1,500,000 600,000
7 2,100,000

403 XHXISHAIS KH2 0l & 2,100,000 1,500,000 600,000
= 2,100,000

01 XXSHREEE 2,100,000 1,500,000 600,000
OPSPIESII=T =] 2,100,000
2 2,100,000

N2 (XX A D) (IIEH/IIEH) 59,224 51,619 7,605

o122l 59,224 51,619 7,605

2N2Y J1=2| 59,224 51,619 7,605
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M- ®=Z . Che (5 NEAY . B2 Al OH HEE Hl =2+

201 LBHEHH| 42,704 38,563 4,141

01 At2t2ldl 42,704 38,563 4,141
ORNM2YE AtR22|H| 42,704

202 Oidl 11,520 13,056 A 1,536

01 =Waodl 11,520 13,056 AN 1,536
OFAM2Y =AY 11,520

405 XH&HFSHI 5,000 0 5,000

01 Xt =SFHSHI 5,000 0 5,000
O= A (10H) 5,000




